
(2) 





2x2x + 3y3y = 9

5x5x − 7y7y = 8

① %５　　　　　　

10x10x10x + 15y15y15y = 4545･････････① ∏

② %２　　　　　　

10x10x10x − 14y14y14y = 1616･････････② ∏

① ∏－② ∏　　　　　　

29y29y29y = 2929

y = 1

y = 1を①に代入　　

2x2x + 3 % 1 = 9

2x2x + 3 = 9

2x2x = 9 − 3

2x2x = 6

x = 3

(x , y) = ( 3 , 1 )

(1) 





3x3x + 2y2y = 5

5x5x + 3y3y = 9

① %３　　　　　　

9x9x + 6y6y = 1515･････････① ∏

② %２　　　　　　

10x10x10x + 6y6y = 1818･････････② ∏

② ∏－① ∏　　　　　　

x = 3

x = 3を①に代入　　

3 % 3 + 2y2y = 5

2y2y = 5 − 9

2y2y = −4

y = −2

(x , y) = ( 3 ,−2 )
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(2) 





6x6x − 5y5y = 1515

4x4x − 3y3y = 1111

① %２　　　　　　

12x12x12x − 10y10y10y = 3030･････････① ∏

② %３　　　　　　

12x12x12x − 9y9y = 3333･････････② ∏

① ∏－② ∏　　　　　　

−y = −3

y = 3

y = 3を①に代入　　

6x6x − 5 % 3 = 1515

6x6x − 1515 = 1515

6x6x = 1515 + 1515

6x6x = 1010

x = 5

(x , y) = ( 5 , 3 )

(1) 





5x5x − 2y2y = 1

4x4x + 7y7y = 1818

① %７　　　　　　

35x35x35x − 14y14y14y = 7･････････① ∏

② %２　　　　　　

8x8x + 14y14y14y = 3636･････････② ∏

① ∏＋② ∏　　　　　　

43x43x43x = 4343

x = 1

x = 1を②に代入　　

4 % 1 + 7y7y = 1818

4 + 7y7y = 1818

7y7y = 1818 − 4

7y7y = 1414

y = 2

(x , y) = ( 1 , 2 )
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